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1 (a) Explain the following terms : 3
Transpose of a matrix, Diagonal matrix, Triangular
matrix.

x y+z 1
(b) Show that the determinants yoztx 1 4
z x+y 1
90 91 92
and | % %% 95 nave equal values.
96 97 98
(©) Solve the following equations by using inverse of 6
a matrix :
x— 2y + 32 =4
2x +y - 3z =
-x +ty+22=23
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©
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(d)

(b)

©
(d)
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A= |2 Y 8| then
3

C z

@ Find a, b, ¢ if A is a symmetric matrix

@) Findx, y, 2z a, b, ¢, if Ais a skew symmetric matrix.

-5 2 4 -3
-6 3 3 -1
verify that adj(AB) = (adj B) (adj A)

Solve the following equations by using inverse of a
matrix :

2y + x =8, 3x = -4y + 14

then

IfA=‘ andB=‘

23 02% 4 0¥

. lim
Evaluate : o o
17)
Find 2 from, x? + y% = xy

dx

2x‘ ex+ e2x
Evaluate : J‘{ JE }dx

jﬁ
Evaluate : 1 \/;

. 9 -8
Evaluate : lim
x—0 X

The total cost function to produce x units of a

1
commodity is, 500 + 13x + §x2 and the demand function

of it is, 5x =375 - 3p, then how many units should be
produced to get maximum profit ?

Explain Leontiff Input-output model briefly.
Evaluate :Jx et dx .

2 [ 100 ]



